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Question Number : 1 Question Id : 544734641 Display Question Number : Yes Is Question

Mandatory : No

"
What 1s therankofthematrix |1 1 1| =7
¥ 3.3
: X 3
1 1 1] 23088 88 dot?
4 4 =
Options:
R -
2. 1
3. % 3
4. O

Question Number : 2 Question Id : 544734642 Display Question Number : Yes Is Question

Mandatory : No
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; _‘2022 2024
1 2 3]l2021 2023
- F 2 -

|3 0 2

Options:

8 4 11
4 =1 3
. x12 & 18
B 4 13|
g = 3
9 6 12
. = “
' % 13
g =g 3
ol® B 3B
(8 4 11
4 1 13
Lu 18 6 13

Question Number : 3 Question Id : 544734643 Display Question Number : Yes Is Question
Mandatory : No

1 1 1+e lte+o’
If wis aroot of the equation x + —+1=10.then |3 4+ 3w 5+4w+3w? |=

g 6 946 11494460

1 1 140 1+w+te?
r+—+1=0 DVSOETIS w wE POMAD (3 443w 5+4w+30? |=

6 9+60w 1149w+ 6w?
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Question Number : 4 Question Id : 544734644 Display Question Number : Yes Is Question
Mandatory : No

LaA=[§ ]:%mmﬁfun=?wafﬁ)=x3—Zﬁ—5.
f(x)=x3—2x2—5 H0Boiw 4 = [g _15 ] o008 f(4) =

Options:

~50 70
| 42 36
1. %
-50 70
42 -36
2, ®
-50 70
—42 36
3. ¢
~50 70
| —42 36
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Question Number : 5 Question Id : 544734645 Display Question Number : Yes Is Question

Mandatory : No

8 1 B i 2 i
fA=|-1 2 0|.B=|1 2 3|thendet(2B7'47")=
4 1 a3 3 1 0]
(& 0 3 3 % i
A=|-1 2 0|28 B=(1 2 3|ewowddet(2B7'47")=
| & ] & 218
Options:
1
1.% 6
—
> % 24
—=X
a.v ©

Question Number : 6 Question Id : 544734646 Display Question Number : Yes Is Question

Mandatory : No

If z € C. then the minimum valueof |z |+ |22 -3 |+ |z—1]1s
zECSD |z|+|2z-3|+|z—-1] sngbwa

Options:

1.v 2
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Question Number : 7 Question Id : 544734647 Display Question Number : Yes Is Question
Mandatory : No

Ifa,b € R and i = V—1. then the number of ordered pairs of real numbers (a, b) satisfying the

condition (a + bi)® = a — bi 1s

a,b 0 TR Vowfew 80K § = V=1 o (a+bi)* = a~bi edbjer éod (a,b)
gmm%v “foﬂa::)5

Options:

1.% 3

Question Number : 8 Question Id : 544734648 Display Question Number : Yes Is Question
Mandatory : No
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Options:
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Question Number : 9 Question Id : 544734649 Display Question Number : Yes Is Question

Mandatory : No

A3
If z2 + z + 1 = 0 where z is a complex number. then (z + %) + (24 +

159
Z 093 9088 30&)5 224z41=0 903)5&)&»0&3. (z +i) - (z“" +
£ © 4 Z

Options:
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Question Number : 10 Question Id : 544734650 Display Question Number : Yes Is Question

Mandatory : No

If a, B, y are the roots of the equation x* — 6x* + 11x + 6 = 0. then ¥, &*f + ¥, af* is equal to

= 6x% 4 11 4 6 = 0 20T o, f,y w0 drergd. ¥ a’f + T af’ dewwdsd
RV EETS
Options:

80

1, %

2'_\7_?84

3. % 20

- —84

Question Number : 11 Question Id : 544734651 Display Question Number : Yes Is Question

Mandatory : No

8 B3 %

[f e, B,y are roots of the equation 2® 4+ 4x - 19 = 0. Then the value of - + =
19-4a * 19-4f  19-4y
3 & 3

4+ 4x - 19 =0 % fo Qrere o, f,y ©o0d - + = .y
T Lk 19-4a * 19-4f  19-4y
Options:
. % 0
2. & 3
3, % 3
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Question Number : 12 Question Id : 544734652 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = x* = 2x* + 3x* — ax + b is divided by x — 1 and x + 1. the remainders are 5 and
19 respectively. If f(x) 1s divided by x — 2, the rematder 15

fx)=x*-23+3x%-ax+b 70:55‘3‘31 x—1,x+ 1 0B erhodm Dd)c‘i 3aren
DA™ 5, 19 9008 f(l) QD X — 2 @ &rhodr ;5:3‘) 320 odh?

Options:
8

1%

2. % D

3« 10

4. % 12

Question Number : 13 Question Id : 544734653 Display Question Number : Yes Is Question
Mandatory : No

%
. xo—hx =1 , 4
Let a, b, ¢ be positive real numbers, If & === has two roots which are numerically
ax.—c¢c m

equal but opposite in sign. then the value of ‘'m’ 15

= b -1
a,b, ¢ 0 65 T4 oaRd. —— = — E1E6m Gotd Surered D) odoew £DA

ax-——c¢ m+1

RoaT(B) SorT VAT ‘M’ Dewsd
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Options:
1.8 %
1
2. % E
a+b
3 ® (I—b
a—Db
A a+b

Question Number : 14 Question Id : 544734654 Display Question Number : Yes Is Question
Mandatory : No

If a set A has m elements and set B has n elements and the number of mjections from 4 to B 1s

2520. Then m s equal to

A, B 93 2S008° R M, N Are5e &) ow. 4 dodt B & o 638 Hakry
:093_35 2520 2008 m Qe doth?

Options:
2

1. %
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Question Number : 15 Question Id : 544734655 Display Question Number : Yes Is Question
Mandatory : No

The number of ways in which 6 men and 5 women can dine at a round table. if no two women
are to sit together 15

QB YO0 DEE) P T S oG 1Y BOP 6 00 YAKPL 5 1 Hov )
DDV SPAN0GIEN DD

Options:

¢ 615!

30

7!1x 5!

Question Number : 16 Question Id : 544734656 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can the letters of the word MAXIMA be arranged such that all vowels are

together and all constants are together?

MAXIMA 3 26306°J 05630008, eeiye) 48 BB, e 28 §18 HSy )
DEA00 VA6 AVSW?

Options:
1. 18
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42

Question Number : 17 Question Id : 544734657 Display Question Number : Yes Is Question
Mandatory : No

1 x> B C D
If

_ — -= A+ + + then A =
(2x—1)(x+2)(x—3) 2x—1 x+2 x-3

x3 B C D

: _ = A+ + + o3 A =
Rx—-1D(x+2)(x-3) 2x—1 x+2 x-3

Options:
1

1.& 2

4. % 25

Question Number : 18 Question Id : 544734658 Display Question Number : Yes Is Question
Mandatory : No

. 2T . 4 . . 8m
51115+8115+5115+81115—
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Options:

1.¢ 0

l\JII-'-

Question Number : 19 Question Id : 544734659 Display Question Number : Yes Is Question

Mandatory : No

- 1 1 1
If xcosf = ycos (9 + z_n) = Ze0S8 (9 + E) then—+—+—=
' 3 3 x y z
: 1 - 3 1
x cos @ = ycos (9 + E) = Z COS (9 + 4—”) IOND — + — + — =
= 3 3 X }f zZ
Options:
T
2. % 2
3¢ 0
4, % 3

Question Number : 20 Question Id : 544734660 Display Question Number : Yes Is Question
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Mandatory : No

If0<6<2m0<a<2mand sec?®® @ + cosec?™® ¢ = 2 then the value of

05?920 @ + sin®%%% ¢ =

0<6 <210 <a<2no sec?®®§ + cosec?™® a = 2 wawd cos? 6 + sin"*2 q =

Options:

Question Number : 21 Question Id : 544734661 Display Question Number : Yes Is Question
Mandatory : No

If sin (51‘ + %) = 0. then ‘x’ 1s equal to

sin (5x +—) = 0 2008 ‘x’ Dewd
(5x+%)

Options:
—1T

. % 20

+ Z n (n € z)

m
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I n(n€z)
3, % O
—1
+—n €z
4.v 20

Question Number : 22 Question Id : 544734662 Display Question Number : Yes Is Question
Mandatory : No

" | - 0 | e 6 —
If # =2Tan 1—3~ +2Tan™ <+ Tan 1—?— and tan—- =vm + Vn where m and n are

itive 1 m+n
positive mntegers such that m < n then (m"™ + n™)™"" =

! -1 1 = ¥ 6 —
0 = 2Tan 1E+2Tan 1?_!_ Tan 17 2080k tan— =vVm +vn , m < n Lad

2
(™ =

Options:
18

1, %

2. 47

y 2D
4. % 36

Question Number : 23 Question Id : 544734663 Display Question Number : Yes Is Question
Mandatory : No
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For what values of x. the following identity is valid & holds? tanh™*(x) = Ug ( )

tanh ™1 (x) = oge( ~ ) ofugdmn ¥ aog) D Dendosh Jadrdoed

Options:

g, % (=o0,%)

i« £4.9)

Question Number : 24 Question Id : 544734664 Display Question Number : Yes Is Question
Mandatory : No

If the angles of a triangle are in the ration 1 ¢ 2 : 3. the corresponding sides are in the ratio
28 Gzvadnd’ Qi A 1:2: 3 wand. 88 AW sl adwe AKnd

Options:

. % 2:4/3:1
5 ¢ 1:4/3:2
1:2:3

3. %

. V3 Z31

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 25 Question Id : 544734665 Display Question Number : Yes Is Question
Mandatory : No

If in a triangle ABC. s(s — a) = (s — b)(s — ¢). then

QZORAD ABC &° s(s —a) = (s — b)(s — ¢) and

Options:
Iy
P S
1. % 4
T
LB ——
2. % 3
T
LA =—
3.¢ .
T
RS v
. 2

4, %

Question Number : 26 Question Id : 544734666 Display Question Number : Yes Is Question
Mandatory : No

. . r r . .
If in a triangle (1 — = ) (l - —1-) = 2. then the triangle 1s

208 BZRANG” (1 - -2-) ( ——) = 2 9008 &2 BZO2AW

Options:

Right angled triangle

. 00205t HZTOREW
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Equilateral triangle
RVETZTN) BZD2eN)

LB = 60°

2 u LE=0E

Question Number : 27 Question Id : 544734667 Display Question Number : Yes Is Question
Mandatory : No

Let u and v be two vectors. Then | u— v | = | |u| = || |if and only if

U 08050 v &0 Bot RO [u—v | = [ul - [v] | SIS 53] Ho(ds oo 26

Options:

L Tl = 1ol

i and v have the same direction

5 U OBCIL 1 LS WS BF Gotod

u and v have the opposite direction

5 U SO0 TV UK 6523653 AP GotLod

4% U=V

Question Number : 28 Question Id : 544734668 Display Question Number : Yes Is Question
Mandatory : No
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In A OAC. if B is the midpoint of side AC and 0A =@, 0B = b then OC =

0AC @2omans’ AC Boain S06) Dotoi) B Sobosw 0A =7, 0B = b eand 0C

Options:

1‘*/213—(1

5 b —2a
_a—2bh

3. %

g o "

Question Number : 29 Question Id : 544734669 Display Question Number : Yes Is Question
Mandatory : No

Let ABCDEF be a regular hexagon with the vertices A4, B,C,D,E, F counterclockwise. Then

the vector AB + BC is equal/parallel to

AB,C,D,E,F 3ganed dai@86" D6\E g tcoye ABCDEF 0owd, AB + BC 063
AT T HroBsaN eab| 968 & $ob THS' D67

Options:

.« BC+CD

, w CD+DE

AF + FE
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s » BT ED

Question Number : 30 Question Id : 544734670 Display Question Number : Yes Is Question
Mandatory : No

If 351 +14) —77k.2i +7) +5kand5i +2j + Ak are coplanar, then A =
357 +14) —77k, 21 +7] +5k 20800051 +2] + 1k H&%0 vdasrgs 1 =

Options:
1. % 11

R

—10

Question Number : 31 Question Id : 544734671 Display Question Number : Yes Is Question
Mandatory : No

If @,b,c,d arevectors in which | d | =landgivena +b +¢c =sd.b +c +d =a.

=
el
3l
=
=
I
|
=|
!
I
e
G
(&

@,b,c,d b8 |d | =100 7 +b +¢ =sd.
'a%a?’.gjr.‘.) ‘s’ QU0
Options:

1.¢ 7
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Question Number : 32 Question Id : 544734672 Display Question Number : Yes Is Question
Mandatory : No

Let x € R and log, x > 0. Then the vectors A= (2,l0g,x,5). B = (log, x, 5, log, x)

mclude an acute angle 1f

Y € R 30805 log, x > 0 @aw. 4 = (2,log, x,s) 208asw B = (log, x, 5, log, x) © 206
02 §'0:8008,

Options:

5 5 —]

Question Number : 33 Question Id : 544734673 Display Question Number : Yes Is Question
Mandatory : No
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A ray of light passing through the point A(1, 2, 3) strikes the plane x + y + z = 12 at Band on
reflection 1t passes through €(3,5,9). then 0B =

A(1,2,3) Dot ot J'ad Somdw x +y +2 =12 dery B 3G TSold Sobasw &
86692 DT80 (3,5,9) Dotk ot I'd Yyt 0B =

Options:

. % V420
, % V380

3 V410

Question Number : 34 Question Id : 544734674 Display Question Number : Yes Is Question

Mandatory : No

Which of the following data has minimum variance?
& $08 BTFoIINVS” BIS SN IS Gotwod?

Options:

. o B3RS

5 o BLEAD

. » 41235

4 # LEZ25
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Question Number : 35 Question Id : 544734675 Display Question Number : Yes Is Question
Mandatory : No

For the set A = { xy, Xy, X3, X, Xz } the variance 15 4 and the mean 15 2. For the set B =

{ 4,5, V3, V4, Vs } the variance is 5 and the mean is 4. Then the variance of A U B is

A = { Xy, X9, X3, Xy, X5 } 0TS DRy 4. ©082065{:0:0 2 08080 B = { vy, ¥2, V3, Vs, Vs }
$ZoT8 DS 5, VoSV 4 WY, AU B 6goTIS 8

Options:
1.% 6

Question Number : 36 Question Id : 544734676 Display Question Number : Yes Is Question
Mandatory : No

. : | 2 2
Let A and B be two events with P(4) = - P(4/B) = T and P(B) = = Then the value
P(B/A) is

1 2 2
A 080120 B e Bocd> 00%en. P(4) =—. P(4/B) = = 2oBat P(B) = — eowd
P(B/A) dewod

Options:
1

1.% O
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Question Number : 37 Question Id : 544734677 Display Question Number : Yes Is Question

Mandatory : No

Two urns 1dentical in appearance contain respectively 3 green and 2 black balls and 2 green
and 5 black balls. One urn 15 selected at random and a ball 1s drawn from it. The probability
that 1t 15 black 1s

SPCer8 FEPOZNT ol Toch) FGVE” DA 3 LDy, 20002 Bk 2
By, 5 VY LoBI &) 0. & Botd FSVA0L) O3 Gy BY ST 2,8 TS0
DR0) ) BotIeC. 2,8 WoBD SR B JY Wed ST ori(d

Options:
39

1« 70

37
2 ® 70

41
3. % 70
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Question Number : 38 Question Id : 544734678 Display Question Number : Yes Is Question

Mandatory : No

Two integers are drawn at random from the set {5, 6, ... ..., 35}. What is the probability that

their difference 1s odd?

{5,6, ... ..., 35} ¥ VDA Aot Botdd ‘Qjﬂg“osanvm &)éolg’ D;b@_)c‘.a, T8 S0 80

203 TS o8 Doch?

Options:
15
62

15
31

16

4.v 31

Question Number : 39 Question Id : 544734679 Display Question Number : Yes Is Question

Mandatory : No
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The mean and variance of a binomual distribution are 5 and 4 respectively. Then what 1
PX=1)=1

28 GGG DB 630800 SBoKo QRYB HAWTT 5 Ldakn 4 e eond, P(X =1)
D0 dodh?

Options:
424

1.&)523

424

2.8 B

Question Number : 40 Question Id : 544734680 Display Question Number : Yes Is Question
Mandatory : No

If X 1s a poisson variable such that 3P(X = 4) :% P(X =2) 4 P(X = 0) then the mean of
X1s

X w8 ronard toord Ao 3P(X = 4) :% P(X=2)+P(X=0) O\ X o8
mﬁs,gma»
Options:

1

1.%
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w||—a

Question Number : 41 Question Id : 544734681 Display Question Number : Yes Is Question
Mandatory : No

The sum of the squares of the distances of a moving point from 2 fixed points A(a, 0)and
B(—a,0) is equal to a constant 2¢?, then the equation of its locus is

A(a,0) 208030 (—a,0) o fgde‘.’hc&:@v Dot 28 BDoPHD o Groee ST
20830 2¢? OD{er &old SUDoER) DotdDE RDSBA

Options:

-2 2 B a2
1-J.1 +) c a

I

Question Number : 42 Question Id : 544734682 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

The transformed equation 3x? + 3y? + 2xy = 2. when the coordinate axes are rotated
through an angle 45° 15

oo 45° Fondw Sabdan oo D6yE Arsd G50 dary 3x° +3y° + 21y =2
G0g), ArBR GrdAw

Options:
1. % IZ + 2}’2 =k

s @ 2x2+y%=1

s x X +y*=1

4 % _1'2+3_1'2 =3 |

Question Number : 43 Question Id : 544734683 Display Question Number : Yes Is Question

Mandatory : No

Find the equation of a straight line which passes through the point (-1, —1) and makes an
angle 150° with positive direction of x-axis.

-85 6% 838 150° Erao B, (—1,—1) Dodody ot Fakh WEWBED PAEGEA:

Options:
V3x + y=1

L

5 x@}’-l—.‘(-l-(l-l—v‘fg):ﬂ

3 % X + vﬁj-’ + (\@‘ — 1) =0

4 % x+y=0
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Question Number : 44 Question Id : 544734684 Display Question Number : Yes Is Question
Mandatory : No

The ratio in which the line joining points A (—1,—1) and B (2, 1) divides the line joining
C(3,4)and D (1,2)

A(=1,-1) 208ak0 B (2,1) Doy 8% Howda C(3,4) Sdatn D (1,2)
Dodova £90 Lot :J:;Degé‘ Do’

Options:

7 + 5 Internally
75 ool

7 + 5 Externally
7+5 w*bﬂ5nn°

7 + 11 Internally
711 e©oddCorr

7 : 11 Externally
R e,r:?éorv

Question Number : 45 Question Id : 544734685 Display Question Number : Yes Is Question
Mandatory : No

The lines (a + 2b)x + (a — 3b)y = a — b for different values of a and b pass through the
fixed pomt whose coordinates are

a S0805 b AR ewdosy (a +2b)x + (a - 3b)y = a — b Aot Sen Fad %})d

DotdY)
AP EAPCET 2021 g s
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Options:

1‘ il :; i;
2.. ¢ ’
( )

(+%)
4% \5'5

AP EAPCET 2021

Question Number : 46 Question Id : 544734686 Display Question Number : Yes Is Question

Mandatory : No

If (a, ) 15 the image of the point (3, —4) with respect to the line 4x — y — 1 = 0. then the

valueof f —a =

dx =y — 1= 00060 &y (3, -4) awg), H3Dowaw (a,f) wand. f—a =

Options:
— 31

17

1. %

—107
17

31
3‘ Q._,’f) 17
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Question Number : 47 Question Id : 544734687 Display Question Number : Yes Is Question

Mandatory : No
If h* = ab. then the slopes of lines represented by ax® — 2hxy + by* = 0 would be in the

ratio

h® = ab wowd, ax® — 2hxy + by* =0 ROFGarofa) S0 Aot MO¥ Saw s

TR :J‘&qy;

Options:
1 % 132

4,0 2R3

Question Number : 48 Question Id : 544734688 Display Question Number : Yes Is Question
Mandatory : No

If ax® + 6xy + by* — 10x + 10y — 6 = 0 represents a pair of perpendicular lines then the
value of |a| equals

ax® + 6xy + by? — 10x + 10y — 6 = 0 P0EGEAD 28 Vot Garodor) Y AW, |al
WIS

Options:
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Question Number : 49 Question Id : 544734689 Display Question Number : Yes Is Question
Mandatory : No

A chord through the point (1, —2) cuts the curve 3x*—y? — 2x + 4y = 0 at P and Q. If PQ
subtends an angle ‘6" at the origin. then 6 equals

(1,-2) Do) oot J'ah w8 l 3xi-y2-2x+4y =0 S5 P $38050 ( Dothopw
36 PoltotddB. PQ 27 uredocddd) 3¢ B Erdw ‘6" wowd, § ed

Options:
1. 8 oy

2. % 15°
3.% 75°
4 o 90°

Question Number : 50 Question Id : 544734690 Display Question Number : Yes Is Question
Mandatory : No
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If p; . p, denote the lengths of perpendiculars from (2 ,3) onto the lines given by 15x% +

AP EAPCET 2021

; 1 1
31xy + 14y = 0. and if p; > p,. then pf + E—p% to=

(2,3) Dot Aot 15x% +3Lxy + 14y* = 0 DEwBarainm) I8 AR Lordroen p; .

1
Py €0 B HB050 p; > p; ©ANS. p12+?—4_p§ T

Options:
1. % —2

1

13

Question Number : 51 Question Id : 544734691 Display Question Number : Yes Is Question

Mandatory : No

The line ax + by + ¢ = 0 is normal to the circle x* + y* + 2gx + 2fv +d = 0if

2+ y2+2gx +2fy +d = 0 5808 ax + by + ¢ = 0 8 28 ©dvot) 5 0NN

Q.‘J:DDC:J_
Options:
1 % ag+bf +c=0

> wag+bf—c=0

I
[

3 % ag —bf +c

4 % ag—bf —c=0
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Question Number : 52 Question Id : 544734692 Display Question Number : Yes Is Question

Mandatory : No

The radius of a circle whose center 1s (2, 1) and one of the chords 15 a diameter of the circle
iyt -2 -6y +6=0,is units.

(2,1) Q Boghorr 80A, x* + y* — 2x — 6y + 6 = 0 B0 E), 28 353‘2}1 w8 &
(10 5B T e k.

Options:

1. 3

Question Number : 53 Question Id : 544734693 Display Question Number : Yes Is Question
Mandatory : No
The angle between the two tangents drawn from origin to the circle x% + vy — 14x + 2y +25=10

s

Soredoti) Aot) 12 +y? — 14x + 2y +25 = 0 g8 A 20,6800 | St

Options:
OD

1.8

5w 45°
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3.

4, % 00°

Question Number : 54 Question Id : 544734694 Display Question Number : Yes Is Question
Mandatory : No

If (4,7) and (—2,—1) are ends of a diameter of a circle which intersects X-axis at A and B.

then AB 1s equal to

(4,7) 208050 (=2, —1) Dot 800 dar ot Js“foanrr (0 w8 ydadw X -e.eat’:)rl
A 0o B Sﬁg 3.30&3_9 @@Dd) AB =

Options:
1.% O

Question Number : 55 Question Id : 544734695 Display Question Number : Yes Is Question
Mandatory : No
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If L, represents the radical axis of circles x% + y2 — 4x — 6y + 5 =0 and x* 4 y* — 2x -
4y — 1= 0.and L, represents the radical axis of x2 + y* 4 2x + 2y —7=0and x> + y* +
x+y+9=0, then

x4yt —dx—6y+5=0. 22 +y2 - 2x —dy - 1 = 0 o0 Surersdw L, Hdoky
ety 204 2y-7=0. 22 +y  +x +y 49 =0 Szr0 orergaw L, wond,
OO\
Options:

L, 1s parallel to L,

o o Li. Ly &0 2,80°08'88) 2AT0dColT oo

L, 1s perpendicular to L,

5 0 L. L, &0 205005 $& @ot)olT oo

L, and L, intersect at an angle 30°

5 & Ly. Ly 00 576 20655 30° S'eao D63ED 0l otiIedotraw

L, and L, intersect at (1,7)

Li. L, &0 (1,7) oD Sl 287N SE) DototLILTTO
4, %

Question Number : 56 Question Id : 544734696 Display Question Number : Yes Is Question
Mandatory : No

Which circle among the following bisects the circumference of the circle x* 4 y* — 8x —
6y + 23 = 07?

Sob 0" D Jydaw x% +y? — By — 6y + 23 = 0 DB ), ot wS
RDVTTTRT JBE0B?
Options:

- x24+y2—6x—4y+9=0
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, x 2> +y*+6x+4y—-9=0

s Xty —6x+4y—~9=0

s XY +6x—4y+9=0

Question Number : 57 Question Id : 544734697 Display Question Number : Yes Is Question
Mandatory : No

If the line 2bx + 3cy + 4d = 0 passes through the points of intersection of y* = 4ax and
x* = 4ay, then

v2 = dax 8ot x? = 4ay ST Dot Do Mot 2bx + 3¢y + 4d = 0 VE¥D
8. o

Options:
¢ d*+(@2b+3c)*=0

, x @2+ @Bb+2c)*=0

- d2+R2b—-3¢c)%2=0

4% A2+ (Bb—2c)*=0

Question Number : 58 Question Id : 544734698 Display Question Number : Yes Is Question
Mandatory : No
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The point (1, 3) with respect to the ellipse 4x% + 9y* — 16x — 54y + 61 = 0 lies

4x* +9y® — 16x — 54y + 61 = 0 BB Cﬁgg‘is (1,3) Dociosdy

Options:

outside the ellipse
S eraf DoY)

on the ellipse

_ BGHB30 6 Dot

on the minor axis
BGBBY (LA &0

on the major axis

i BGD B BT L0 ot

Question Number : 59 Question Id : 544734699 Display Question Number : Yes Is Question

Mandatory : No

If the transverse and conjugate axes of hyperbola are equal, then its eccentricity 1s

—_—

BSVTIVATAS SE(S L0, VoA LN VAT &8)0Ed

Options:
V3

1.8
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Question Number : 60 Question Id : 544734700 Display Question Number : Yes Is Question
Mandatory : No

The incenter of the triangle formed by the points (0,0,0). (3,0,0). (0,4,0) is
(0,0,0). (3,0,0). (0,4,0) Dot 6\& GavRw CE), WodtBogin

—

Options:
1‘ J (l, 1, 0)

3 % (l: Or lJ

4. 4 (._ll O, _l)

Question Number : 61 Question Id : 544734701 Display Question Number : Yes Is Question
Mandatory : No

If the line joming the points A(7,p,2 ) and B(q,~2,5 ) is parallel to the line joining the
points C(2,-3,5) and D(—6,-15,11). then the value of p® + ¢* =

A(7,p,2) S080%0 B(g,-2,5) Dotoywdn 80 26% 8 C(2,-3,5) daiw
D(=6,-15,11) Do S0 W6¥ S ddrodborr &otd p° +¢° =

Options:
1. 29
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Question Number : 62 Question Id : 544734702 Display Question Number : Yes Is Question
Mandatory : No

The angle between the planes 2x —y+z=6andx + vy + 2z = 3 1s

2x =y +2 =6 2008000 x +y + 2z = 3 dere 6| Seasdw

Options:

Question Number : 63 Question Id : 544734703 Display Question Number : Yes Is Question
Mandatory : No
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gl T 1—cos2(x—1
The Iimit lim v ( )
x—1 =

; 1—CosZ{x—1
lim J ( )

29 €998

Options:
exists and is equal to V2

S{DVBB00 BB V2 & HAFDA0
1. % ®

: : o
exists and 1s equal to —v/ 2

avsaim:m 200030 —V2 & HDATDID
2. % .

does not exist
asafaaan S5°C0
3. 12

exists and 1s equal to (1/2)

DEDRBB0 20850 (1/2) & DATBIW
4, ®

Question Number : 64 Question Id : 544734704 Display Question Number : Yes Is Question
Mandatory : No

If f(x). defined as given below, is continuous on R, then the value of a + b =
R &' ) x deode 56 8ot Ardodd f(x) D000 X)) 208 a +b =

(sinx , x<0

2
x“+a , 0<x<l1
¥ ="
fx) bx+3 , 1<x<3
\ —3 3 x>3
Options:
1.% 0
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Question Number : 65 Question Id : 544734705 Display Question Number : Yes Is Question

Mandatory : No

_,facosx —bsinx dy
If y=Tan _ ,then
bcosx + asinx

v = Tai >
= ( dx

bcosx +asinx

Options:
1. % 0

dx

acosx — bsinx dy
OB, — =

Question Number : 66 Question Id : 544734706 Display Question Number : Yes Is Question

Mandatory : No
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1
If 8f(x) +6f (T) =x+5 and y = x*f(x), then E at x = —1 equals

1 dy
8f (x) + 6f (_) =x+5 800 y = x*f(x) owd, x = ~1 3¢ = Ded
X X

Options:

Question Number : 67 Question Id : 544734707 Display Question Number : Yes Is Question

Mandatory : No

1/4
i | | e o f lT “1(y) d dy : 1 |
y = lo ——Tan *(x),then — at x =— equals
) . ;- 2 | dx V2 .
1/4
1 1+x 'J.T “104) - 1 i dJ’D "
y = log T > an (x) eon 'l_*ﬁ T 0
Options:
—4
1. ® 3
4
38 3
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Question Number : 68 Question Id : 544734708 Display Question Number : Yes Is Question
Mandatory : No

If f(x)=sinx-sin2x-sin3xand f”(x) = a(sinbx) + c(sindx) + e(sin kx). then the
value of (a 4+ c +¢) — (b + d + k) equals

f(x) = sinx - sin 2x - sin 3x &8k f"(x) = a(sinbx) + c(sindx) + e(sin kx) eond,
(a+c+e)—(b+d+k) densd

Options:

Question Number : 69 Question Id : 544734709 Display Question Number : Yes Is Question

Mandatory : No

X

The slope of the normal to the curve y =— at x = —4 18
O

o
X=—438 y=—5 SEA A0S, DEAlSTIARY) GS); T
@ x“+1
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Options:
—289

1. % .
— 15

> % 16
289

3. ¢ 15
15

4, ® o

AP EAPCET 2021

Question Number : 70 Question Id : 544734710 Display Question Number : Yes Is Question

Mandatory : No

The time period ‘T" of a simple pendulum of length ‘" 1s given by T = 2m J: where ‘g

denotes the acceleration due to gravity. If the length of the pendulum 1s increased by 1 %. then
the approximate change 1n its time period 1s

e OE($n ‘g, 'oso TE ‘1" Hda EoTdgs svo ‘T © S06{ Vo8l

T=2n \E P8, &8 S'vgo A0g) TP 1% DotdiT, ) ETHGD Twod’

&J“GJ:] eaguna:arr

Options:

. 05%

2. % 2%
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3 ® 10/0

Question Number : 71 Question Id : 544734711 Display Question Number : Yes Is Question
Mandatory : No

The absolute minimum value of x* — x2 —2x 4+ 51s

S [N BE), D6 SN Dend

Options:
8 =3
2. =3
3. % =7

Does not exist
bﬁbﬁ)ém) S°GD
4, ¥ -

Question Number : 72 Question Id : 544734712 Display Question Number : Yes Is Question
Mandatory : No

If the tangent to the curve 2y® = ax® + x* at the point (a, @) cuts off intercepts « and § on

the co-ordinate axes, where a® + f* = 61 . then the value of |a] is

(a,a) oo 56 2y° = ax’® + x° &D g0 AWE), 06\3 ITISTYP «. f
90B0DOLmOR BAT, @ + % = 61 ) BHBY, |a] dewd

Options:
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14

1.9
2.v 30
3‘@@ 20

4. % 23

Question Number : 73 Question Id : 544734713 Display Question Number : Yes Is Question
Mandatory : No

m ,
The sum of the lengths of the subtangent and the subnormal drawn at 8 = S on the cycloid

x=a(f —sinf).y=a(l—-cosf)is

x=a(f —sind); y=a(l—cosf) o8 Ardoded 5708 6 = % 56 R "fo)dgéaa
208050 60 VTPV TEHL B

Options:

Question Number : 74 Question Id : 544734714 Display Question Number : Yes Is Question
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Mandatory : No

x b
f{ Fri— +x“+b“'+ab}d.x':

a X

Options:

x2 b ; opek b*

+
| % 24 .1'2+ a+1 . logh .

2 ¥a+1 bx

X =
—+ blog |x| + 5
5> @ 20 og || a+1 logb

+ abx + ¢

1
:%— blog |x| + ax®* + b*logh + ab + ¢
3. %

rz j{n+1 bx

—+ blog |x| +

b.,
2a a+1+loga+al+c

4, %

Question Number : 75 Question Id : 544734715 Display Question Number : Yes Is Question

Mandatory : No
[+ 90+ 2%+ B -

Options:

x + 1)? x+ 2)* x + 3)?
( ) +(1 ) +(1 )
. 2 5 2

(x+2)7 (x+2)°
2.v 7 >
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(x + 2)7

(x +2)°

7

(x + 3)’ 3 3)°

7

5

AP EAPCET 2021

Question Number : 76 Question Id : 544734716 Display Question Number : Yes Is Question

Mandatory : N

R —

If f g o W F s

x7

‘ 1.'/1 —x* g i fe— . \N
J 7 dx = f{x) [\ﬁl — x* ] tic @mé,(f(_:r)) =

Options:

0

—_—

1 =%

}n + ¢, then (f(.t‘))" =

Question Number : 77 Question Id : 544734717 Display Question Number : Yes Is Question
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Mandatory : No

dx 1
Iff =—Tan" [ g(x) ] + ¢, then g(x) equals
cos*x +sin*x /2 [g(x)] g(x) eq L

dx 1
=—Tan H g(x) ] + ¢ ®@ond, g(x) =
fcos“:r+sin“x V2 [g(x)] = . ...
Options:

tan x — cotx

1. V2

tanx + cotx

2. % V2

sinx — COSX

sinx + cosx

V2

Question Number : 78 Question Id : 544734718 Display Question Number : Yes Is Question

Mandatory : No

1 1 1 1

If | f()dx=1,]| xf(x)dx=a, | x*f(x)dx=a® then |(x—a)’f(x)dx=___
L’ |
1 1 1 1
ff(x) di=1. [1‘ f(x)dx=a, [sz(r) dx =a° tsﬂné.J (x—a)’f(x)dx=__
0 0 0 0
Options:
& @

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

—



AP EAPCET 2021

2
2_wa. + 1
a’—1
3. %
a.v Y

Question Number : 79 Question Id : 544734719 Display Question Number : Yes Is Question
Mandatory : No

Question Number : 80 Question Id : 544734720 Display Question Number : Yes Is Question

Mandatory : No
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dx

B . d d 1
The order and degree of the differential equation ‘d_y 42 7y = 0are respectively
X

d d
\/% 4= 7y = 0 63 03808 PREGRD dg, HOATHAN, S840 SERT

ax
Options:
1
e
2
¥ =
2 & 1
2 8
3 % 1 & 1
4. 1 & 2
Physics
Section Id: 54473414
Section Number : 7
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 544734721 Display Question Number : Yes Is Question
Mandatory : No
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Unification of weak and electromagnetic interactions was done by

08y®, 3‘3’5‘5@5‘&“"3 &335505 560 Decde BHD T

Options:

Einstemn
DODD

T

Raman
5 % T

Salam

3 ¢ e o

Hubble

4 :J“&l}aé

Question Number : 82 Question Id : 544734722 Display Question Number : Yes Is Question
Mandatory : No

In an experiment, four quantities a, b, ¢, d are measured with percentage errors 2 %, 1 %. 3 % and

212
. . , ol ¢ el ] i
5% 1‘espectn-'el}’, Qualmty P 1s measured as P = _d Find the percentage error m measurig P
C

28 DOIPASY’, Tk FASo W a,b, ¢ LBk d © BiForen SR 2%, 1%, 3%

22
30008 5% . P 73803 Do P = — . P gy, Bt Dewd
Options:
% 10%
5 % 15%
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. 12%

Question Number : 83 Question Id : 544734723 Display Question Number : Yes Is Question
Mandatory : No

The velocity of a particle is given by v = 2t* — 8t 4 15 m.s™*, Find its instantaneous acceleration

att =5hs.

w8 Sti0 AN, Do v = 2t2 -8t + 15 m.s! eoand 59 X0 g, SE 36t Jod?

Options:
v 18 m.s™?

5 % 20 m.s2

3 x5 e

12 m.s 2

4. ¢

Question Number : 84 Question Id : 544734724 Display Question Number : Yes Is Question

Mandatory : No

When a particle moved from point 4(2,2,3) to pont B(6, 6,9). its displacement vector 1s

8 $0 A(2,2,3) Do 00d B(6,6,9) Dochd 668 ) g Frdgos 064 dod!

Options:

Lo 4T +4a] +6k
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Question Number : 85 Question Id : 544734725 Display Question Number : Yes Is Question
Mandatory : No

A car is moving with a speed of 30 m.s™* on a circular path of radius 500 m. If its speed 1

imcreasing at the rate of 2 m.s™2. then find its acceleration?

500 m .7;53“20 $90% w8 HTs6 Srgeds’ w8 56 30m.s™" 9GS $E5RB0B. T
a3, I 2 m. s SRYYd DAXDAr Goll, S°6) AN, B(Be0 dod?

Options:

. % 2.0 m.s 2

.18 m.s?
L

. 9.8 m.s7?

4« 2.7 m.s °

Question Number : 86 Question Id : 544734726 Display Question Number : Yes Is Question

Mandatory : No
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A block of mass 90 kg 1s suspended by three strings A, B and C as
shown 1n figure, Tenstons 1n the strings A, B and C respectively are
(g=10m.s7%,sin37° = 0.6, cos 37° = 0.8)

90 kg @303 o 2,8 By, HLAE" UPHIL Jardd A B
STEAADIEAR. A, B Basw € o Sjde
(g=10m.s72,sin37° = 0.6,cos 37° = 0.8)

Options:

_ 400 N, 500N & 300N

5 % 500N, 300N & 900N

3 x 300N, 600N & 900N

4« 1200N, 1500 N & 900N

Question Number : 87 Question Id : 544734727 Display Question Number : Yes Is Question

Mandatory : No

A wheel having moment of inertia 40 kg.m* about its axis. rotates at 50 rpm. The angular

retardation required to stop this wheel in 90 seconds 1s rad.s™

5o DOV 2GS o 40 kg. m*® &DAQ wé Bgo 50 rpm drfod FAoered Boboehd) &.

& GE) 90 Y Do) G’ AS GROE T8 R HORR 2wty BGeao

Options:
T
1% 45
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Question Number : 88 Question Id : 544734728 Display Question Number : Yes Is Question

Mandatory : No

A small body slides down a smooth uneven surface from

a height H, which eventually emerges into a circular loop |
of radius R(< H). What should be the value of H so that

the force on the body at A is V2 times its weight?

28 WA) S0P AR BRATD doAw S0BS H 8 Aot 2pMSD) 8. LSBT D’
TS R avssvgan Gd) HTTOUrd & DI (R < H). A 8 S0 6

|
Y

LR T TS V2 0 Gotrwotl H ding), Jend?

Options:
3R
H=—
1.¢ -
5 % H=5R
S5R
3 # 3
4 % H=3R
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Question Number : 89 Question Id : 544734729 Display Question Number : Yes Is Question

Mandatory : No

Three pomnt-masses my, m, and my are located at the vertices of an equilateral triangle. having
each side of length ‘L’. The moment of mnertia of the system about an axis along an altitude of the

triangle passing through m; 1s given by

28 Zhadw TE ‘L' s80, w8 AdEr Guoadn e %gu ¢ Sre Dotk
g::écmw my. M, 00050 My $09). m; Mot J'Ar GzhRAW QA0S &R\ A VLI
DO B3R A0, 2ES EPSAD dod?

Options:

_ 2
o I=(my+my; +m3)L

LZ
I=(my +m,)—
2. % 2

2 I =(m, +mj3) L2

L2
I =(my,+m;)—
4. *

Question Number : 90 Question Id : 544734730 Display Question Number : Yes Is Question

Mandatory : No
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A rod AB of length 1 m s placed at the edge of a smooth table as shown.

MB
It 1s hit horizontally at point ‘B’. If the displacement of center of mass in
1 5 is 5v2 m. the angular velocity of the rod is i
(Take g = 10m.s7%)
A

Lm TEQYL 28 86 AB 0,63 WY ot DOJNY” trad
DB &) 8. Dotd) ‘B’ 3G 0 £82 DArod6A0T SLLEIR.

08 REWE" T GO0 Sog) FRgodan 5V2m eand 6. aing)
oD Sk (g=10m.s72)

Options:

. —q
;P 30 rad.s

20 rad.s™ !

2, "

3 % 10 rad.s™?!

4 % 5 rad.s ™ *

Question Number : 91 Question Id : 544734731 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Three rods each of mass 1 kg and length 2 m are joined together

A
end-to-end to form an equilateral triangle ABC. Find the moment
of nertia of this system about an axis passing through its centre of
mass and perpendicular to the plane of the triangle,
28) 8.8 1 kg g3 00abn 2 m Tckay $9A% 2urcd gGen 0
% - B

DRA0ES" B DEST 28 DAFTV GERAN A6YELED
SRUDETO. S, T S BI(0°3 Sodw ot TS
B0 BLPAS VLA God 5.0 DOV e SfO% aog)
BESC PN Jod?

Options:

1 x4 kg.m?

2
5 2 kg.m

3 % 3 kg.m?

1. kg.m?

Question Number : 92 Question Id : 544734732 Display Question Number : Yes Is Question
Mandatory : No

What 1s the number of degrees of freedom for an oscillating simple pendulum?
EoTru 39 LG VSN TS, Wdod HDOBIL Vo Jod?

Options:
One

| w 28O

2. %
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Two
Cold

Three
AT

More than three

4% AT CED s:::l o)e‘..)z,.‘.a

Question Number : 93 Question Id : 544734733 Display Question Number : Yes Is Question
Mandatory : No

The amplitude of a damped oscillator 1s known to decrease to 0.9 times its original magnitude i 5
seconds. Approximately, by how many times its original magmtude will its amplitude decrease
after another 20 seconds?

us ©dhg Eogin a308), $oRNONA 5800 353@6‘ o &9 S00% 1O Aot IO
S0 HBAS 0.9 BLS) SAVA. BAIS), 20 VSNV ¥ F'Y DewdS) A) T8 Sdded?

Options:
x 0.73

1

. o 0.59

4 % 0.26

Question Number : 94 Question Id : 544734734 Display Question Number : Yes Is Question
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Find the gravitational force between two stones. each of mass 2 kg and separated by a distance
1 m m vacuum.

28] 68 2 kg 33703 D08 Both T¥) S0cs| Grdw 1m (Jrd[5n0e’) eand T8 o
DB ABTEES WO

Options:

_ 6.675X107° N
2. %

, x 6.675x 10711 N

—10
4 @ 2R

Question Number : 95 Question Id : 544734735 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Angular speed. linear speed as Kinetic energy change with time but angular
momentum remains constant for a planet orbiting the sun.

Reason (R): Angular momentum 1s constant as no torque acts on the planet.

DB (A) : AP S5185° SR diro dvg) Srdabad, S Hé Sbabo
(0% 38 SO ArdTroD, 5 EHo DA SrGaw AN Sk
S (R) : (ra0p &6, DS Eriat G150 HESVT Gockaid

Options:

Both A and R are true and R is a correct explanation for A

T, A 20030 R G0 20 900350. R, A 2 2009008 0566

Both A and R are true but R is not a correct explanation for A
5 % A 208030 R T 28 20050. R, A £ 2089003 D566 5D
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A i1s true. R 1s false

5 A D0 o8, R 20 9008 57

A 1s false. R is false

4 % A 0Bain R Tocr 20 290000) S°e)

Question Number : 96 Question Id : 544734736 Display Question Number : Yes Is Question
Mandatory : No

One end of a wire of 8 mm radius and 100 cm length 1s fixed and the other end 15 twisted

through an angle of 45°. The angle of shear 15

100 cm Ty, 8 mm Eﬁﬁ“gan $0AS w8 AN awg) w8 W6 Hietsed, ol DGR 45°
§tadnes” DGy 20096, wand Jared Sao Jod?

Options:
, o 0.36°

, x 0.12

3, 8 A&

s Al"

Question Number : 97 Question Id : 544734737 Display Question Number : Yes Is Question
Mandatory : No

Which of the following works on Pascal’s law?

& 808 T°JS" B IS DoODAAW DA BRD) B?
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Options:

Aneroid barometer
w:rg eIPGa)Oed

Hydraulic lift

98 Oc
Z.JEQ o

Sprayer
BEEA s b e

Venturimeter

 Dotidd kb
4. %

AP EAPCET 2021

Question Number : 98 Question Id : 544734738 Display Question Number : Yes Is Question

Mandatory : No

Bemoulli’s theorem 1s based on the conservation of

88 9 rrosdsn O BB oD BETEHE Gotnod?

Options:

Mass
93550“9

Momentum
| B D

Energy

3.v %3
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all of the above

;3;5.5:1

4, %

Question Number : 99 Question Id : 544734739 Display Question Number : Yes Is Question
Mandatory : No

A bimetallic strip 1s made of aluminium and steel (g > @s0e;) - On heating, the strip will

AW DB werihAao B &S BT (g > greer). S BOYY 1O

Options:
remain straight
BT &0t

get twisted
- 03

bend with aluminium on concave side
9RO DNV QPTG HDorDa

bend with steel on concave side

4 o G5, DD DT EINT Jorhd

Question Number : 100 Question Id : 544734740 Display Question Number : Yes Is Question
Mandatory : No

5 g of steam at 100 °C 1s mixed with 5 g of 1ce at 0 °C. What 1s the final temperature of the mixture?

100°C 3¢ 5 ) 3963 0 °C 3659 Qo8 $Dre0. e dgandn g Bt egga Dod?
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. » 100°C

, u 950

3 % 90°C

4w B0

AP EAPCET 2021

Question Number : 101 Question Id : 544734741 Display Question Number : Yes Is Question

Mandatory : No

Specific heat of a gas undergoing adiabatic change is

(N
Options:

Zero

b %\J"Aﬁsm

Infinite
% e900H )

Positive

) qﬁvé&s‘.m
3. »

Negative

| 2EPS) S
4, %

DENE 2oy DAk TosY VS :Jag‘gnn

Question Number : 102 Question Id : 544734742 Display Question Number : Yes Is Question
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Mandatory : No

Three Carnot engines operate in series between a heat source at temperature

T, and heat sink at a temperature T, . There are two other reservours at

temperatures T, and T;. The three engines are equally efficient if

(giventhatTy > T, > T; > T})

Srcd 5°0') Ahogren &2 28w &S T) 0Bk &2 VoS &S T, ©
S0 865" DAWROT™) . 88 & B8 Tocth AT T, B0 T
eggao 36 &) 2. & AP adogrey AATY &mgvﬁnl saﬁmal?a
(Tl > Tz > Tg - T4 '335&)5.0(5)

Options:

% 125 (T T & Ty=(I"- TP

, & =@ IOV & Ty = (T, - T
Tz = (le . T4)1;’3 & T3 . (Tl . T42)1f3

3.¢

4 % TZ — (Tl . T42)1f3 & T3 _— (le . T4)1;3

Question Number : 103 Question Id : 544734743 Display Question Number : Yes Is Question

Mandatory : No
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Two containers A and B contain equal volumes of an identical gas at the same pressure and
temperature, The gas in container A is compressed to half its original volume isothermally. while
the gas in container B 1s compressed to half its original volume adiabatically. The ratio of the final

pressure of gas in container B to that of gas n container A4 1s

8 AR, RHBAFHAY 200 &S &) B0k HO] PATIY TAIYOR Totd
e A 28050 B wo s8R . A IS’ 68) ToinHA dd agw D3a0e’ &l
2 IBArE) IS Sod, B IS 63) Tani 20RE DIY’ &
20R0B8r08" RS Sfotrn. B 2Bokw 4 08 &) 88 beare G dodd?

Options:
1 o B

Question Number : 104 Question Id : 544734744 Display Question Number : Yes Is Question
Mandatory : No

The respective speeds of the five molecules are 1,2,3,4 and 5 km. s~*. Then the ratio of their

RMS velocity and the average velocity will be

5 e SEw SO 1,2,3,4 200at 5 km. s T8 RMS (36 2065 36:2070)
S8, forka S-S 06 v iy
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Question Number : 105 Question Id : 544734745 Display Question Number : Yes Is Question
Mandatory : No

A string 15 divided into three segments. so that the segment possesses fundamental frequencies

in the ratio 1: 2: 3. Then, the length of the segments are in the ratio

T8 :’m::a)a"éw 1:2:3 :):;3@6‘ GO 28 AR SUPE) TTFNT DT .
O VPR TPV ARG

Options:
1 6:3:2

2‘@@ 4:3:2

3 % %2:1

4 % L L |

Question Number : 106 Question Id : 544734746 Display Question Number : Yes Is Question
Mandatory : No
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A well-cut diamond appears bright because

T OBOD H5280 DT FIoBIMT EJDLDLL) S

Options:

it emits light
08 5708 &I0otd

1t 1s radioactive
. 08 BAAFTEEyS S

of its total internal reflection

% ROPT 0S80 DT D00

it has high density
. 8 9S8 Jodd SOAGICEIRD

Question Number : 107 Question Id : 544734747 Display Question Number : Yes Is Question
Mandatory : No

Two opposite charges each of magnitude 500 pc are 10 cm apart. Find electric field intensity
at a distance of 25 cm from the midpoint on axial line of the dipole.

500 pe DBAx°E30 0 Both) 380 BITe 10 cm ErsAY” &) . BE)S BLHD
aos); 065 Doty Aoc. 25 cm AVl W IS £ DS dodh?

Options:

7 =3
. v 576 X107 N.C

, x 9.28x 10" N.C™*

5 % 131x10"°N.C"
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4 w 205 x40t NE™

Question Number : 108 Question Id : 544734748 Display Question Number : Yes Is Question
Mandatory : No
The minimum work needed to be done to bring a charge ¢ = 6 uC from  to a pomnt 0.75 m

from a charge Q = 30 uC 15

6 UC 3T ©ReBErCAD Aot 30 UC BT 0.75 m ErEANGE IS BRI S0
BoDIVDD € 1Y

Options:

% 4167

, % 5167

3 @ 26]

4 x 1167

Question Number : 109 Question Id : 544734749 Display Question Number : Yes Is Question
Mandatory : No
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The equivalent capacitance between A and B in the given circuit is

508" Wrad Swoheed’ 4 Sdoin B o 206§ Bo)y Qﬁ‘faﬁf):) Doth?

e Z UF epm 2 YUF =1 pF 2 UF
I |
| !

Options:
1. % 3uF

2. o THE

o HRE

4 % 1.5 uF

Question Number : 110 Question Id : 544734750 Display Question Number : Yes Is Question
Mandatory : No

Find the resistance of a cube of edge 60 cm. made of a material of specific resistance 60 X 107 Q.m.
08 O D3 ABEAw 60 X 107 Q.m. 60 om hadw $9AD Ddan awe) WG

Options:

. u ABx WS

, x107°%Q

3 » 25 P
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1n—4
4 u SRR

Question Number : 111 Question Id : 544734751 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer of resistance 40 () gives a deflection of 10 divisions per m A. There are 50

divisions on the scale. Maximum current that can pass through it when a shunt resistance of 2 ()

15 connected 18

40 0 B sw SDAS mrex T 98 m A £ 10 Dermred ©dI6S0 SR 0. )LD
50 T S0 Dot G 2 0 Voo BRDYE D Mot Pderotd (B S
DT Jod?

Options:
1. & 105 m. A

5 % 155m.A

3 % 210 m. A

4 % 75m. A

Question Number : 112 Question Id : 544734752 Display Question Number : Yes Is Question
Mandatory : No
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The magnetic field due to current carrying a circular loop of radius 5 cm at a pont on the axis

at a distance of 12 cm from the center 1s 250 uT. The magnetic field at the center of the loop 13

5 em 63w $D7 DS DAFIY) 28 HTTE Urd Sogsitn Aol T LL0 NS
12 cm cir6:8008° 6:) Dothad) 56 oI 08 £B3W 250 UT. ©aS & Lrd S0 6
0N 08 EGAN

Options:
- 2529 uT

, o 4394 T

3 % 1759 uT

4 x 2908 uT

Question Number : 113 Question Id : 544734753 Display Question Number : Yes Is Question
Mandatory : No

The self-inductance of a coil 1s 50 mH. When a current of 1 4 passing through the coil.

reduces to zero at a steady rate m 0.1 second. then find the self-induced emf.

2,8 SOl A0 DOES 50 mH. & Mot Hdarodd DS A 0.1 R
Ao Hrd(S0s) ONS, TS 208:00h] DA \S Lo

Options:
1. 8 5 V

5 % 0.05V
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4 95V

Question Number : 114 Question Id : 544734754 Display Question Number : Yes Is Question
Mandatory : No

A conductor moving in the magnetic field ‘B’ the nduced current 1s ‘I, If the magnetic field 1s
doubled the mduced current will

28 TITEHN BN 0t FAAS BOWR) Py DB DI T, LI 08 TG0
0oy ad DOS PITTAND

Options:
Remain the same
1 R €908 GotLod

be half

, ¢ A2 0B

be doubled

, . 080D e

be four times

4 % P G 1A

Question Number : 115 Question Id : 544734755 Display Question Number : Yes Is Question
Mandatory : No

The reactance of an mductor at 50 Hz 1s 10 Q. The reactance of 1t at 200 Hz 1s:

50 Hz © 56 2,8 90So a0g) 208 6am 10 Q eond 200 Hz © ¢ T W), D00 A0 dod?
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Options:
1 % 10

5 40 Q2

¢ 2.082

. 20 Q2

Question Number : 116 Question Id : 544734756 Display Question Number : Yes Is Question
Mandatory : No

An LC circuit contains 196 pF capacitor and a 441 uH mductor. The frequency of electromagnetic

radiation emitted by antenna coupled to the LC circuit 1s

28 LC Suahdn 196 pF 3arowb & Sobokw 441 uH 005y 580 636, & Swairds
SEVDGR w8 0ol Aol GEFGAD Dmﬁcsa‘bﬁ"buej Q8GR A1) m:gyaﬁm

Options:
7.96 X 10° Hz

1.
« 54.1Xx10° Hz

79.6 X 10° Hz

3. ™

: 5
. 541 %X 10° Hz

Question Number : 117 Question Id : 544734757 Display Question Number : Yes Is Question
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Mandatory : No

The voltage applied to an electron microscope to produce electrons of wavelength 0.50 A 1s

050 A eidoﬁgg)ﬁan A% JUS RV &S\S BN JVTD @51’)‘5&3&& 9003 BODSVRD

Sg4

Options:
1. 602V

4 % 812V

AP EAPCET 2021

Question Number : 118 Question Id : 544734758 Display Question Number : Yes Is Question

Mandatory : No

The diagram shows different transitions across
the energy levels for an electron in a certain
atom. Among these. which transition represents

the emission of a photon with the most energy?

SR8 A0 HOAFWPY D QTR0 38
OO Y. BB(BS 388 Dendd
D EPRA Wraed Dogduto dA?

Options:

1 = (II)

> = ()

(1D

(V)

(1)
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3. = (IV)

4 o (D

Question Number : 119 Question Id : 544734759 Display Question Number : Yes Is Question
Mandatory : No

The curve between charge density (p) and distance (r) near a p-n junction is best represented by:

pn Do) OIS 8538 Fodd (p) 2B Grdaw (1) 0¢8] g0

Options:
p -,
p n
B
-
e O
p ~
p n
.
r
2. %
[j- L
y\
>
r
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p

Question Number : 120 Question Id : 544734760 Display Question Number : Yes Is Question
Mandatory : No

If the highest modulating frequency of the wave 1s 5 kHz. the number of stations that can be

accommodated m a 150 kHz bandwidth 1s

w8 SO0 GLVE), (0% ATEr(TRS I¥2YIfo ond :Jé e’ A DD Doy
1305335!:0()&)?

Options:
1. % 20

2.v 15

3.% 10

Chemistry

Section Id: 54473415

Section Number : 3

Mandatory or Optional : Mandatory
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Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 544734761 Display Question Number : Yes Is Question
Mandatory : No

With what velocity must an electron travel so that its momentum is equal to that of a photon of

wavelength 663 nm ?

663 nm SGorigg 0 Jerd ga,sbnmaéﬁ D @SASL QTS g S dod?

Options:
1 « 1098 m/s

, x 109.8 m/s

. 10.98 m/s

4 % 1.098 m/s

Question Number : 122 Question Id : 544734762 Display Question Number : Yes Is Question
Mandatory : No

Which orbital among the following has zero radial nodes and 2 angular nodes?
BE.00S SEo Doy B’ , Srlah SEo Do 2 T &) 8By

Options:
4s

1. %
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Question Number : 123 Question Id : 544734763 Display Question Number : Yes Is Question
Mandatory : No

Two particles of masses m & 2m have equal Kinetic energies. The de-Broglie wavelength are

m the ratio of

m &)0805 2m GO0 10 Botd STe A0 (82 3§ PArIAD wond, T8 ¢ '
38013 ® A

Options:
25

1. %

2, 8 15

—

3 % 1:v2

4\%{2:1

Question Number : 124 Question Id : 544734764 Display Question Number : Yes Is Question
Mandatory : No

; B pcars ol 24 : . R o
Thetons S .Cl . K .Ca" are 1so-electronic. Their 1onic radi show

S¥.CU.K*. Ca* watrdien ‘o dosdS T dotos. T8 eairdd ms&g“w
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Options:

a decrease from S~ to €l and then increase from K to Ca®*
§7 0ol €I~ % o, K* &0 Ca’t & oo

an increase from S°~ to €I and then decrease from K to Ca®?
- S%T B0l CI £ 20h. Kt #00& Ca*t & SRR

. . = +
a significant decrease from $°~ to Ca®

8.5 §%7 &0d Ca® £ DIVDID BAGO S0t

a significant increase from $°~ to Ca’*
57 2008 Cat € DAVDDVD DEAEL ot

Question Number : 125 Question Id : 544734765 Display Question Number : Yes Is Question
Mandatory : No

Which among the following iso-electronic species has the smallest size?
0%, F~, Ne, Nat, Mg**, Al?*, si**

S08 BOVS” A B B S HBITE0 (P2r) EVH Gocd?
0%, F~, Ne, Na*, Mg**, A®*, si**

Options:

_

1. F

5 o 5f4+
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4. % Na

Question Number : 126 Question Id : 544734766 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The first ionization energy of Be 1s greater than that of B.

Reason (R): 2p orbital has lower energy than 2s orbital.

D598 (4): B g, B ©aIrRSAS Jorrdy Sotf Be Ging) G ©ATRELD
;)otf_rb:] :Ds‘o&b
DB/ (B): 25 0P Sa) 2p 6B\Ere 3§ 84y 3

Options:

Both A and R are frue and R is a correct explanation for A
A 08030 R 280D 8030 R &0 A 28 DdHBoddE

Both A and R are true but R is not a correct explanation for A

5 % A 508030 R 2BID 08030 R A0 A 2O DdHBotdTcd

A 1s true. R 1s false

, , A P36 RIDIG 57

A 1s false. R 1s true
A 2038 5°¢ R 9038

Question Number : 127 Question Id : 544734767 Display Question Number : Yes Is Question
Mandatory : No

Which among the followimng compound shows the highest lattice energy?

S0 ROWERS D) YOS BB(BS D\BS oS 3§ (v D) Fdo JB?
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Options:
1. o LiF

> ® CsF

KF

Question Number : 128 Question Id : 544734768 Display Question Number : Yes Is Question
Mandatory : No

The hybridizations of N-orbitals m NO; .N O; and NH : respectively are

NO; . NO, 30808 NH, 08" 88ytre 008856t

Options:

B YRy - 3
, @ SP°, SP%, sp

, x SP- sp3, sp?

_ 3 sl
2 % sp, sp=<, sp

2 3
4 % SP° Sp, sp

Question Number : 129 Question Id : 544734769 Display Question Number : Yes Is Question
Mandatory : No
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Identify the correct sequence with respect to the strength of hydrogen bonding among the following.

$0) Q080 R0o) FPEBS LT NP S5rA) Botsed.?

Options:
1.« HzOz = HzO > HIF = st

5 % H,0 > HF > H,0, > H,S

3 % H20 = HF > HES = HzOz

4% H,0 > HF > H,0, > H,S

Question Number : 130 Question Id : 544734770 Display Question Number : Yes Is Question
Mandatory : No

A person living in Shimla observed that cooking food without using pressure cooker takes

more time. The reason 1s that at high altitude

26" DDAV 8 B8 A D86 Gk 3o BatL I3 DAY
G800 LI ASIOETED. &8 A0 HABAN I WoHIL) (1R SCEAD

Options:

TEIIIPEI'R ture decreases

&' S50 D

[ ™

Pressure increases

It &)5.)6.:5
2. %

Pressure decreases

5
| o DED3D BL,D
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Temperature increases
4. % &ggé 035.)6&5

Question Number : 131 Question Id : 544734771 Display Question Number : Yes Is Question
Mandatory : No

For formation of 3.40 g of ammonia gas. what volumes of hydrogen gas and nitrogen gas.

respectively. are required at NTP conditions?

TERO 0050 RS Tratude 2065 WA 200.340g abréboir O30
D6\EXOLD, NTP 56, S0000 &2 20050 RS0 WIDBAFEL SERT:

Options:
2.24L & 2.241L

1. %

5> % 224L & 124L

. 6721 & 2241

4 % 6721 & 1121

Question Number : 132 Question Id : 544734772 Display Question Number : Yes Is Question
Mandatory : No

If one atom of an element X weighs 6.643 X 1072 g. Then find the number of moles of atoms

m 50 kg of element X

X 003 durugo G, 8 DEATIY &r6o 6.643 X 107 g. 50 kg © X &' Arde

’eoaaa,gm Gégjnéoc’.?
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Options:
500 moles
1 % 000 droew

125 moles

5 % 125 do-edend

1250 moles
3 1250 drden

50 moles

4 % 00 2o

Question Number : 133 Question Id : 544734773 Display Question Number : Yes Is Question
Mandatory : No

Out of molar entropy (I). specific volume (II), heat capacity (III). volume (IV). extensive

properties are

2rer6 doti'a (1), DI wd0BArmAw (II), aeron (1), 2od00arandw (IV) 08° D
c,’:n"éw
Options:

+ u Tl

s g Bkl
3 % ITO

1 » DLV
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Question Number : 134 Question Id : 544734774 Display Question Number : Yes Is Question
Mandatory : No

When reaction 1s carried out at standard states then at the equilibrium

D378 BVS” 2,8 SB[ BBDIYE VLTV 3¢

Options:
. x AH° =0
5 % K==

equilibrium Const K = 0

DTN TS K =0
3, % e

equilibrium Const K = 1

AT TS0 K =1
4.v > @

Question Number : 135 Question Id : 544734775 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct expression for the equilibrium constant of the following reaction:
2Xg T Vg =32

2X(g)t+ Yig) =32 9 t'ﬁﬁlsSJ "n)wam)@ EU‘OSZ\D o g‘Qﬁ)D&ﬁJ‘)
Options:
.4 i £
g = XL
- [Z]
2.
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P
T [(x12 )

_3[z]
- 2[x] [v]

3. %

« K=[ZP[X]°[Y]

4, %

Question Number : 136 Question Id : 544734776 Display Question Number : Yes Is Question
Mandatory : No

Which of the following gas the highest pH at 25 °C ?

So& 70" BAS 25 °C DG VBOS pH DD E0CON?

Options:
distilled H,0
. PGB 208
T, ™

1M aq NH,

5 1M 20 NH;

3 & 1M NaOH

4 % 1M HC

Question Number : 137 Question Id : 544734777 Display Question Number : Yes Is Question
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Which gas among the following has the maximum global warming potential?

BHD &d) TAPHVS” BB(BS “HwS T80 TOJ0LES” (o TC5VY IB?

Options:

- CO,

5 SFg

3.3 CHa

g, » ¥l

AP EAPCET 2021

Question Number : 138 Question Id : 544734778 Display Question Number : Yes Is Question

Mandatory : No

Alkali metals are powerful reducing agents because

6 &S5 50 O LoDSGE SPESTLD DotLBVDIT

Options:

They are metals
) ) osn &S

1.%

They are monovalent
€92 €9 0D DEVOArRES SO

" AL

Their 1onic radu are large
T8 9038 63"55‘0"2.1} DG
w @ @

4. v
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Their 1onization energies are low
T oHASGE 3§ 3L S

Question Number : 139 Question Id : 544734779 Display Question Number : Yes Is Question
Mandatory : No

Consider the reaction BCl; + NH; —— BCl, - NH, . the geometries of BC; and BCl; - NH,

respectively are

BCly + NHy — BCls - NH; & t6{ HBES’S BR0E R, BCl; 08k BCl; - NHy ©
55,800 DA

Options:

Trigonal planar & Tetrahedral

S SE'ta0 20BN BB DA

Tetrahedral & Square planar
| Se06) Hab 2BAk BB BB

Tetrahedral & Trigonal bipyramidal
| sody) Dab oBosn GE A RIS S0

Square planar & Trigonal pyramidal
| RSB A6 0Bk BE D BLRrETS 6o

Question Number : 140 Question Id : 544734780 Display Question Number : Yes Is Question
Mandatory : No
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Carbon and germanium belong to the 14" group. The maximum co-ordination number of

Carbon 1s less than germanium, because of

?005, ﬁé&z}oﬁa 14 & () £ BodA Qoreseen. s"da.s s, w@s@s RR(ED ‘:‘bn&:ﬁ,
&6 daso OS(BS Do0iradoh RoR] S0t B8, oISV LR

Options:

larger size of germanium

- 20), Aodo DEJTTDR) DHE DL SO

electronegativity difference
, W DATS) SO & SOD

availability of low-lying d-orbitals in germanium
| B0 000 036 SE(B” d-8B) P, Gt SO

electrical conductivity
Dmﬁ TIPEB0 DO
4. %

Question Number : 141 Question Id : 544734781 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure of the compound responsible for Bhopal disaster:
H IS DATEAS SEEDD VDV FOIW

Options:
1 % HC—C=N
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, x NEC—0—CH;

., H,C—N'=C
4, ®

Question Number : 142 Question Id : 544734782 Display Question Number : Yes Is Question
Mandatory : No

The suitable reagents for the conversion of methane into methyl iodide are

DB 2 RS OBFEE M SPHNLD DBV SEW

Options:
I,, HNO,

Y

L« L2, Hy0;

% by H0

4 o 2, HNO;

Question Number : 143 Question Id : 544734783 Display Question Number : Yes Is Question
Mandatory : No

In Lassaigne sodium fusion test, N and S of an organic compound are converted mto

RS Jéao D DOLE" 6y ) ¥d30 &' N Sodos § ™ A7y Bodody

Options:
. % NaCN
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" Nﬂzs

5 v NaCNS

4 % NaNs

Question Number : 144 Question Id : 544734784 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are Correct?
(1) Inductive effect & resonance effect 1s possible in chlorobenzene

1) Resonance effect dominates over mductive effect in Anisole

Eiii) P-nitrobenzoic acid is less acidic than m-nitrobenzoic acid
(tv) Diphenylamine 15 more basic than aniline
S0 PIBTVE DOAN?
() 808 Derdin B0k SISy Derdin §6 BodSY’ Fe
(i) VS’ B8y Derddw 8IS HerDAw Sof BEVSEW BPYD
(i) P-D5" Bo22008 e3:30i, -8’ Elou0nS L8N Sotf B3 80w $8 Gotiod
(iv) @026 DR0D DIDS oS e T S0B

Options:

, w @, (), (i) & (iv)

(i) & (ii) only
- (1) & (ii) g

(iii) & (iv) only
s (i) & (iv) Srg

4, %
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(i) & (iii) only
(1) & (iii) S0

Question Number : 145 Question Id : 544734785 Display Question Number : Yes Is Question
Mandatory : No

100 ml of 0.2 M acetic acid 1s completely neutralized using a standard solution of NaOH. The
volume of ethane obtamed at STP after complete electrolysis of the resulting solution 1

100 ml © 0.2 M Q988 8ardy parn NaOH grdned Qpérr SLRBET . 208
TR WD Dm,s&_géam darr, STP 3¢ A TAL) ] &3 I0ATea0

Options:
1 % 112 L
2 % 2.24 L

3 02241

4 % 2241

Question Number : 146 Question Id : 544734786 Display Question Number : Yes Is Question
Mandatory : No

Iron exhubits BCC-structure at room temperature. Above 500 °C, 1t transforms to FCC-structure,

Find the ratio of the density of iron at room temperature to that at 500 °C. (Assume the atomic
radi1 and the molar mass of iron remain constant even with variation n temperature)

6 &0 96 w8 &m0 BCC Joyerd) 680600, 500 °C 3 &b FCC owjgaor
drarodito Bodoid. &8 6'iF Fogde MG 16 ag‘ge:e 3¢ &dato 500 °C P
(6088 St §'ro HEAPH GIT™I LBALY DT a»@vgueﬁ‘ Aoy G erdotsod.)
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Options:
1. 3\"ﬂ§: 4‘\’6

Question Number : 147 Question Id : 544734787 Display Question Number : Yes Is Question
Mandatory : No

What amount of conc.H, 50, solution should be used to prepare 500 ml of 0.5 M H,50,? (The

concentration of H,50, solution being used is 90% and molecular mass of H,50, = 98.079 g.mol ™)

500 ml © 0.5 M HyS0, Tramdn Ssrd et S0 H,S0, 620087 (H,50, e 90%
ooty HS0, erogdo-2 98.079 g.mol™*)

Options:
1 ¢ 2206 g

, % 2452g

., » 11035

2724 g

4. %

Question Number : 148 Question Id : 544734788 Display Question Number : Yes Is Question
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Mandatory : No

If the resistance of 0.1 M KCI solution in a conductance cell 1s 300 Q and conductivity is

0.013 S.cm™L. then the value of cell constant is

w8 TR A’ 0.1 M KCI grdeadn cig), Weeain 300 Q Sodoso
Tarsda 0.013 5.em™. Db fgﬂ‘osan VA

Options:

1 @ 39 em 3t

5 x 39 m™

4 = 0.39 cm™t

Question Number : 149 Question Id : 544734789 Display Question Number : Yes Is Question
Mandatory : No

A reaction has rate constant k = 2.4 X 10™* s™*. Then find the ratio of tgq 4 to t,.
L -4 -1 3

w8 568 Bew ?go‘ussﬁn k=24Xx107"s7" oond t,,, 200aid t) © AN

Options:

1.3'51

3 ¢ 10

o 19
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Question Number : 150 Question Id : 544734790 Display Question Number : Yes Is Question
Mandatory : No

The adsorption of a gas at the boiling point of the gas

follows the isotherm shown in the figure. Identify the " ; c
correct thermodynamic properties at point C. *::E::i“
adsorbed
88 TOR0Y CIvE), BT R (@D St adde  #0Fe0 263
0l DB .
368) ¥% HotoBodd DATLS B0 BrOREIB. Cod T o P 1
(A ) / P{] -

Do) ég N0 egﬁ@s Q’Jdéq‘bn Al
Options:

1_WAH=T£&S; AG =0

, % AH >TAS ; AG = +ve

3 # AH <TAS ; AG = —ve

4 % AH=TAS =AG =0

Question Number : 151 Question Id : 544734791 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is least covalent in nature?

308 TOS° S B8 D DAAFBAAD VDI (o Do) FOA0?

Options:
. x NFs
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R4 BI'F3

3. % (73

4 % SbF;

Question Number : 152 Question Id : 544734792 Display Question Number : Yes Is Question
Mandatory : No

The geometries of XeF, and XeOF, respectively are

XeF, 00ain XeOF, © Qo) o SCORM

Options:

Pyramidal and Distorted octahedral
RGPS 6o H0H050 DB BoBD BREHL0

Square-pyramidal and Square-pyramidal

5 % WSOOR AT [S"0o 20003 ISED TS~ 0o

Square-planar and Square-pyramidal

- RO BAVGV0 DB WG DBEES

Square-planar and Square-planar

4 % NSO DAVGVo V0T VB DAOCo

Question Number : 153 Question Id : 544734793 Display Question Number : Yes Is Question
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In the following reaction

I, + H,0 + Cl, —— X 4 Y. the products X and Y respectively are

L+ Hy0 + Cl, —— X + ¥ 0 368" X 080k Y eo Swrr

Options:
1 % HClO, ,HI

, « 107 HCI

. o HIO; HCI

4 % 1Cl3 & HCL

Question Number : 154 Question Id : 544734794 Display Question Number : Yes Is Question
Mandatory : No

Atomic number of Cr, Fe and Co are 24 , 26 and 27 respectively. Which of the following

mner orbital octahedral complexes are paramagnetic?

Cr, Fe 00000 Co © 202078 Do Q0N 24,26, 27. Sold 086 Uﬁaw‘é @‘fg&»ﬂ
Dogarvd’ Ab JT° oY) 0d G0} (UB?

Options:
1% [Co(NH;3)6]**

5 % [Co(CN);]3*

3 ® [Fe(CN)G]4-

Y, [CF'(CN)6]3_
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Question Number : 155 Question Id : 544734795 Display Question Number : Yes Is Question
Mandatory : No

Gadolinium (atomic number 64) is a member of 4f series. Its electronic configural i +3 oxidation

state is [Xe] 4f”. What is the ground state electronic configuration of Gadolinium

A&"Dabo (56:7m0 o] 64) 4f 33D B Mreiaw. +3 88\86n H3E' T gD
Da:g:aan [Xe] 4f7 eoond A& Aodo DEATEVY) aI8), a_irg“cm TR &')a"lg‘rban

Options:
| [Xe]4f1

, x [Xe] 4f8 6s°
, x [Xe]l4f7 5d°
4 v [Xel4f7 5d* 652

Question Number : 156 Question Id : 544734796 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are true about carbohydrates?

(1) Monosaccharides can be hydrolysed.

(11) The two monosaccharide units obtained on hydrolysis of a disaccharide can either be same or different.
(111) Polysaccharides are not sweet i taste.
(

1v) All monosaccharides are not reducing sugars.

?6‘5@@6053 NotoBot) & DHAD A2aw?

() ArSTeEa 20 Hw o

(i) E7Ep& avDFmY B Sy ArSTEOE AdrI BT 3y S SAM goiin
(i) rDesacy D8 B eotiad

(iv) €0 ArS7°606) 4aDses 153) 6o 57

Options:

(i) & (ii) only
e (D) & (i) 2@

(ii) & (iii) only
) (ii) & (iii) Sorahadd

(iii) & (iv) only
s (i) & (iv) 3rgdo

(i) & (iv) only

, x (D & (iv) Sgdo

Question Number : 157 Question Id : 544734797 Display Question Number : Yes Is Question
Mandatory : No
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A compound ‘4’ contains C and H only. and has molecular mass 72. Its photochlormation gives a

mixture contamning only one monochloro and two dichloro hydrocarbons. Deduce the structure of 4’

C 080 H &g (v A o :om&vam aws), amg.jso‘a 72. TN 5708 DAEANG’
§6349 o a8 ArSEY LBk Gotd ZET ET G D61AAD. A Aoy Teaked

Options:

2, 2- dimethylpropane
Lo 22 GRS TR

n- pentane

2- methyl butane

. 2- Q0BS (B

Cyclopentane

4 % Eg’aoﬁeﬁ

Question Number : 158 Question Id : 544734798 Display Question Number : Yes Is Question

Mandatory : No

The major product of the following reaction sequence is

& :::cp‘ DO DD GBS D) A

I i) Mg / Et,0
ii) CO,

iii) H;0*
iv) Br, / FeBrs
Options:

.Y
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CO,H

@Br
CO,H

2, %

CO,H
CO,H
@/Br
4, ® By
Question Number : 159 Question Id : 544734799 Display Question Number : Yes Is Question

Mandatory : No

Lucas test 1s used for the determination of

S08 ) ¥V BI ML) / AGONEELE LS DO EDAPADER

Options:

Vi
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Aldehydes
e39337¢

af— o

Phenols
_ oTrden

Carboxylic acid
570°38198 s

Alcohols

2306‘356&1)
4.

Question Number : 160 Question Id : 544734800 Display Question Number : Yes Is Question
Mandatory : No

What 1s (P) in the reaction given below

(i) CH;MgBr (i) dil. NaOH
(P) > (R) > 4-methyl pent-3-en-2-one
(i) H30" (ii) A

808 565" (P)

(i) CH3MgBr (i) dil. NaOH
(P) > (R) > 4-20065 Dot5-3-8e0-2- Lo
(ii) H;0" (ii) A
Options:
Propanone
Yo
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Ethanamine

REIDD

2. %

Ethanenitrile

S8 D35
3.V s

Ethanal

4, = e
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